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5.1-5.4 Review
1.	Simplify the following expressions as much as possible. Write your final answer with only positive, rational exponents. Note that all variables are non-negative.



a. 		b.		c.			



2.	Simplify each radical expression. Write your answer in reduced radical form. Note: .



	a.	 	b.	 (Note: )




	c.		d.		




	e.					f.   




3.	A triangle has an area of 8 square feet and a base of  feet. Find the height of the triangle, writing your answer in reduced radical form.  



4.	Solve each equation.  Simplify the solution to an integer or a fraction.



	a. 		b.		c.	









5. 	Write an equation for , the transformed graph of , if it has been vertically dilated by a scale factor of 2, reflected over the y-axis,  translated left 6 and up 4.




6. 	Sketch the graph of    and then use the graph to identify the following key features:
[image: Image result for 10x10 coordinate plane]a. 	Domain: 
b.	Range:
	c.	Coordinates of the point of inflection:

d. 	Interval of x where :	

e. 	Interval of x where  is decreasing:


f.	Average rate of change of  over the interval :
[image: ]

7.	Sketch the graph of .





 




8.  	An underground tank in the form of a cylinder must be drained before it can be removed and disposed of. Metal detectors can tell that the tank is 20 feet long, but is unable to ascertain the radius of the cylinder. The tank is known to be half-full and it takes a pump removing the liquid at a rate of  ft3/min 20 minutes to empty the tank.
	a.	Find the volume of the tank.

b.	Find the radius of the tank.


oleObject2.bin

image3.wmf
(

)

4

22

65

32

4

ghk

ghk

-

-


oleObject3.bin

image4.wmf
0, 0

xy

¹¹


oleObject4.bin

image5.wmf
179

3

64

xy


oleObject5.bin

image6.wmf
118

5

48

xy

x


oleObject6.bin

image7.wmf
0

x

>


oleObject7.bin

image8.wmf
(

)

(

)

5

553212

xx

-+


oleObject8.bin

image9.wmf
7527

33

165

xyxy

×


oleObject9.bin

image10.wmf
333

8500510832

-+


oleObject10.bin

image11.wmf
1924432575

+-


oleObject11.bin

image12.wmf
35

-


oleObject12.bin

image13.wmf
163

x

-+=


oleObject13.bin

image14.wmf
(

)

2

3

7421

x

+=


oleObject14.bin

image15.wmf
4

580

w

=


oleObject15.bin

image16.wmf
(

)

hx


oleObject16.bin

image17.wmf
(

)

fxx

=


oleObject17.bin

image18.wmf
(

)

3

23

mxx

=--+


oleObject18.bin

image19.gif




image20.wmf
(

)

0

mx

>


oleObject19.bin

image21.wmf
(

)

mx


oleObject20.bin

image22.wmf
(

)

mx


oleObject21.bin

image23.wmf
[

]

6,3

x

Î-


oleObject22.bin

image24.png




image25.wmf
(

)

3

1

4

x

px

+

=-

-


oleObject23.bin

image26.wmf
8

p


oleObject24.bin

image1.wmf
(

)

3

4

4

8

3

3

84

16

ab

ab

æö

ç÷

ç÷

ç÷

èø


oleObject1.bin

image2.wmf
(

)

(

)

59

37

mm

-

-


